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     EXCEL CIVILS ACADEMY 
DAILY CURRENT AFFAIRS 

                                                    Date: 08-02-2022 

 

1. With reference to the GDP estimation in India, consider the following statements: 

1) The GDP is estimated at the Market Prices, instead of the Factor Cost. 

2) The base year for the calculation of the GDP is 2011-12. 

3) The GDP is estimated by the National Statistical Office (NSO). 

Which of the statements given above are correct? 

a) 1 and 2 only               b) 1 and 3 only              c) 2 and 3 only                             d) 1, 2 and 3 

 

2. With reference to the trends in India's GDP growth rates, consider the following statements: 

1) The Nominal GDP growth rate has consistently increased in the last 5 years. 

2) The Nominal GDP growth rate has always been higher than the Real GDP growth rate in the last 

5 years. 

Which of the statements given above is/are correct? 

a) 1 only                        b) 2 only                       c) Both 1 and 2                        d) Neither 1 nor 2 

  

3. Consider the following statements: 

1) Under Article 82, the Parliament enacts a Delimitation Act after every Census. 

2) Delimitation is the act of redrawing boundaries of Lok Sabha and state Assembly seats. 

Which of the above statements are true? 

       a) Only 1                b) only 2                       c) Both 1 and 2                        d) Neither 1 nor 2 

 

4. Consider the following statements : 

1) Covishield is the world’s first registered combination vector vaccine for the prevention of 

COVID-19. 

2) DCGI Comes under the Ministry of Health & Family Welfare. 

Which of the above statements are true? 

  a)  Only 1                        b) Only 2                          c) Both 1 and 2                      d) Neither 1 nor 2 

 

5. With reference to Anaemia, consider the following statements: 

1) Anaemia can be caused due to the deficiency of Vitamin A and Vitamin B12. 

2) The 6X6X6 strategy is associated with the Anaemia Mukt Bharat plan. 

 Which of the statements given above is/are correct? 

a) 1 only                         b) 2 only                        c) Both 1 and 2                          d) Neither 1 nor 2 
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6. Blue Dot Net work initiative is an initiative led by which of the following countries? 

a) US, Japan and Australia  

b) US, Japan and UK 

c) Japan, India and Australia 

d) China, US and Japan 

 

7. Consider the following statements:  

1) The Kolleru salt water lake in Andhra Pradesh is a Ramsar site, a wetland site of international 

importance.  

2) The Coringa Wildlife Sanctuary (CWS) is home to India’s second-largest mangrove cover.  

3) The CWS is located in the confluence of River Godavari and the Bay of Bengal.  

Which of the above statement(s) is/are correct? 

a) 1 and 2 only                       b) 2 and 3 only                c) 1 and 3 only                       d) 1, 2 and 3 

 

8. Consider the following statements regarding the Ramsar Wetland Sites:  

1) A wetland is considered internationally important when it supports critically endangered species 

only.  

2) Wetland sites are identified on the basis of the population of critically endangered land animals 

only.  

Which of the above statement(s) is/are correct?  

a) 1 only                     b) 2 only                        c) Both 1 and 2                           d) Neither 1 nor 2  

 

9. Which among the following is/are accounted for the calculation of the Household Private Final 

Consumption Expenditure (PFCE)? 

1) Expenditure incurred by the residents within the economic territory. 

2) Expenditure incurred by the residents outside the economic territory. 

3) Payments made for domestic services, such as housemaid, painting, etc. 

Select the correct answer using the code given below: 

a) 1 only                        b) 2 only                             c) 1 and 3 only                                 d) 1, 2 and 3 

 

10. Which among the following can necessarily be associated with the Negative Net Factor Income from 

Abroad (NFIA)? 

1) GDP is higher than GNP 

2) Closed economic model 

3) Higher merchandise trade deficit 
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Select the correct answer using the code given below: 

a) 1 only                        b) 1 and 2 only                       c) 1 and 3 only                              d) 1, 2 and 3 

     

 


